
1) Decrease 50 by 28%

Answer: ____________

2) Find perimeter of 
square having each side 
(s) equals 8 cm

Answer: ____________

3) Round 9.54 to the nearest 10

Answer: ____________

4) Decrease 60 by 10%

Answer: ____________

5) 42 ÷ 3

Answer: ____________

6) 42 ÷ 3

Answer: ____________

7) Find area of 
rectangle having 
sides a = 15 m 
and b = 1 m

Answer: ____________

8) Find area of 
rectangle having 
sides a = 15 m 
and b = 1 m

Answer: ____________

9) 1/7 + 13/2

Answer: ____________

10) Decrease 50 by 58%

Answer: ____________

11) Find the median of the following set of data:

20, 11, 39, 14, 17

Answer: ____________

12) 48 ÷ 4

Answer: ____________

13) Find the mean of the following set of data:

13, 3

Answer: ____________

14) (-41) + 24

Answer: ____________

15) Find area of square 
having each side (s)
equals 8 in

Answer: ____________
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16) Find area of square 
having each side (s)
equals 8 in

Answer: ____________

17) 8/117 of 234

Answer: ____________

18) 24 ÷ 6

Answer: ____________

19) Find area of square 
having each side (s)
equals 79 in

Answer: ____________

20) 21 x (-20)

Answer: ____________

Total: ___ / 20
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Answers:

1) 36 2) 32cm 3) 9.5 4) 54 5) 14 6) 14 7) 15m

8) 15m 9) 69/14 10) 21 11) 39 12) 12 13) 8 14) -17

15) 64in 16) 64in 17) 16 18) 4 19) 6241in 20)
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